Jasper County, Iowa

Denny Carpenter

Doug Cupples

Brandon Talsma



Board of Supervisors

Courthouse PO Box 944 Newton IA 50208 Phone 641-792-7016 Fax 641-792-1053

JASPER COUNTY BOARD OF SUPERVISORS MEETING AGENDA

www.jasperia.org November 23, 2021 9:30 a.m.

Live Stream: https://jasper.zoom.us/j/97712718501

Meeting ID: 977 1271 8501 Dial In: +1-312-626-6799

Pledge of Allegiance



Item 1	Building & Grounds – Adam Sparks a) Armory, Fire Escape Door Replacement
Item 2	IT/Sheriff – Ryan Eaton a) Cellebrite Certification Training
Item 3	Set Public Hearing Dates for the Recodification of County Ordinances (Recommended Dates & Times: December 7 th , December 14 th & December 21 st , 2021 at 9:30 am)
Item 4	Assessor – Stacey Von Dielingen a) Hiring Full Time Assessor Clerk – Sara Fifer
Item 5	Annual Urban Renewal Report, Fiscal Year 2020-2021
Item 6	Engineer – Michael Frietsch a) Construction Plans for PCC Overlay of F-62 (aka Diamond Trail Road) b) Purchase of Miscellaneous Signs
Item 7	Board Appointments
Item 8	Approval of Claims Paid Through 11/23/21
Item 9	Approval of Board of Supervisors Minutes for 11/09/21



219 1st Ave. E. Newton, Iowa 641-792-1641 • 800-792-1641

ESTIMATE ONLY

N	anne ADAM SPARKS Date	10-1-2021	10-29-2021
A	direct OLD ARMORY BLOG. Phone	521-8844	
	Te .		
, a		1.	B o
	"KEMOUE OLD DOOR AND INSTALL		
	NEW STEEL FRAME Y-DOOR.		
2/	(SMOOTH SLAB, NO DOOR LITE)		
	Pan Phile BAR + Pur Haware		
	ON EXTERIOR. (NO KEYED LOCK)		
	DOOR CLOSER, SWEEP, THRESHOLD		
	+ WEATHER STRIPPING, INSULATE +		
	CAULE,		
	RE-INSTALL OLD PANIC BAR		
		41	
	# RE-VISED ST	4,025.75	•
	A RE-VIORE		
	Ju Ovo		
	- Place Grow For 30 DAYS-		
	0		
	ted by Hell		
Estima	ted by		

Estimate

October 21, 2021

Attention Adam

Project: For Armory building, Jasper County, Iowa

Contractor: Randall M. Terlouw

306 1st Ave. W. Newton, IA 50208

641-831-6020

Marilynkt42@gmail.com

Labor and materials to replace an emergency exit door with a commercial steel door and closure. Insulated and includes weather-strip, reusing existing lock system

Cost: \$4,200.00

Cellebrite Inc. 7 Campus Drive Suite 210 Parsippany New Jersey 07054 **United States**

Tel. +1 800 942 3415 Fax. +1 201 848 9982 Tax ID#: 22-3770059 DUNS: 033095568 CAGE: 4C9Q7 Company Website: http://www.cellebrite.com

Cellebrite

Digital intelligence for a safer world

Quote

Quote# Date:

Q-209772-1 Aug 27, 2021

Billing Information

Jasper County Attorney's Office 101 West 4th Street South Newton, Iowa 50208 **United States**

Contact: Ryan Eaton Phone: 641-521-1594 **Delivery Information**

Jasper County Attorney Office 101 West 4th Street South Newton, IA 50208

United States Contact: Ryan Eaton Phone: 641-521-1594

Click here to process with Credit Card payment By clicking the link above and accepting this quote,

You are expressing your agreement and compliance to and with the terms contained on this quote.

Customer ID	Good Through	Payment Terms	Currency	Sales Rep
SF-00075024	Sep 26, 2021	Net 30 From Completion	USD	Stefanie Pennington

Product Code	Product Name	Qty	Start Date	End Date	Serial Number	Net Price\Unit	Net Price
	ILT CCO + CCPA - Cellebrite Certified Operator + Physical Analyst	1	Nov 28, 2021	Dec 02, 2021		USD 3,850.00	USD 3,850.00

SubTotal	USD 3,850.00
Shipping & Handling	USD 0.00
Sales Tax (0.00%)	USD 0.00
Total	USD 3,850.00

Comments:

For further information please email Stefanie Pennington at stefanie.pennington@cellebrite.com or call

Terms and conditions:

- Payment terms: Net 30 From Completion;
- Shipping: EXW:
- -Limited Warranty: Hardware: 12 Months; Software: 60 days; Touch Screen: 30 days
- Quote is subjected to regulation approval
- Purchases of Cellebrite Advanced Services are governed by: http://legal.cellebrite.com/CB-us-us/index.html
- Purchases of any other products sold by Cellebrite are governed by:
 - 1. https://legal.cellebrite.com/us/index.html, and
- 2. https://legal.cellebrite.com/End-User-License-Agreement.html
- In addition to the GTC and EULA above, the following terms apply only to the following products:
 - 1. Cellebrite Premium: https://legal.cellebrite.com/intl/PremiumUS.htm
- 2. Pathfinder: https://legal.cellebrite.com/AE-Addendum.html

*SALES TAX DISCLAIMER: Cellebrite Inc. is required to collect Sales and Use Tax for purchases made from the following certain U.S. States. Orders are accepted with the understanding that such taxes and charges shall be added, as required by law. Where applicable, Cellebrite Inc. will charge sales tax unless you have a valid sales tax exemption certificate on file with Cellebrite Inc. Cellebrite Inc. will not refund tax amounts collected in the event a valid sales tax certificate is not provided. If you are exempt from sales tax, you must provide us with your sales tax exempt number and fax a copy of your sales tax exempt certificate to Cellebrite Inc.

- Please include the following information on your PO for Cellebrite UFED purchase:
 Please include the ORGINAL QUOTE NUMBER (For example Q-XXXXX) on your PO
- CONTACT NAME & NUMBER of individual purchasing and bill to address
- E-MAIL ADDRESS of END USER for monthly software update as this is critical for future functionality

I, the undersigned, hereby confirm that I am authorized to sign this Order on behalf the engaging company ("Company"), and I hereby approve that my signature is legally binding upon the Company. By signing this Order I hereby confirm and approve that the terms and conditions with respect to the services described in this Order are the only terms and conditions that apply in this regard, and no other documents and/or forms and/or other terms and conditions shall apply.

Signature & Stamp:	Effective	Date:
Name (Print):	Title:	
Please sign and email to Stefanie Pennington at stefanie.pennington@ce	ellebrite.co	m
refund to compounts achieved in L. event a valid sales tax certificate is not pattly your sales to common number out for a copy of your sales tax exempt. Attest: Indicate the following above tronion your PO for Cellsonte OPED pure Preson introde to GROW VI. TO OTE NUMBER (For example CHX RIVINGER) CONTACT NAME & NUMBER of individual purchasing and bill to address	COFOLUER CLAS LURI YOUR F	-x Cataonte la -
-EANAL ADDRESS of EAD USER Parasantity software update as this is of	dical to Ta	Fride: 34
Dennis K. Parrott, Auditor Logic or designed, however confirm that i are authorized to sign that O desapprove that my signature is logally binding upon the Conneady. By signatures with respect to the account of the authorized in this Order are the on documents and/or forms and or littler terms and conditions shall apply	tertili di	e engagery company ("Company"), and Thereby I hereby confirm and approve that the terms and conceiled that the terms and conceiled that apply in Pris regard, and on other
Signature & Stamp:	ERectiv	
Name (Prioti:	Trile	
Piezse sign and email to Stefan a semi-agtor at stetang pandington@or	Jehate o	
Find of the demonstrate decides on the constraint of the decides of the constraint of the decides of the constraint of t	rathur goss - 791	,
1. The interesting of management of the kinn is all ranged in your manifold to be over that the september of the kinn is all range of the control of the september of the sep	N- 190	Service of the servic
Signature & Country	2779424	Lyde I
Mains (Print):	Tite	
de san agricult combine force in the argument of same force in a	er same	
The second secon	ger Start at Strait og	The second secon
Quote Number: Q-2 Prepared by Stefanie I Page 2 of 2	Pennington 2	
according to the last was all the a co		

Michele Ergenbright From: Sent:

Stacey Von Dielingen

ent: Thursday, November 18, 2021 11:36 AM

To: Michele Ergenbright Cc: Melissa Hartgers

Subject: agenda item for next week

Could you please place the following on the agenda for next week? Thank you!

Receive and place on file the hiring of Sara Fifer. Assessor Office - Clerk (full-time), effective November 29, 2021 at an hourly rate of \$17.50, per authorization of Stacey Von Dielingen, Jasper County Assessor.

Stacey Von Dielingen, ICA Jasper County Assessor 101 1st St N Rm 105 Newton IA 50208 (641)792-6195 staceyv@jasperia.org

Signature:	Attest:
Doug Cupples, Chair	Dennis K. Parrott, Auditor

Levy Authority Summary

Local Government Name:

JASPER COUNTY

Local Government Number:

50

Active Urban Renewal Areas	U.R. #	# of Tif Taxing Districts
JASPER COUNTY-AMENDED JASPER CO URBAN RENEWAL	50011	7
JASPER COUNTY-COLFAX INTERCHANGE URBAN RENEWAL	50015	4
JASPER COUNTY-COUNTY FARM URBAN RENEWAL	50016	1
JASPER COUNTY-NORTHWEST AREA URBAN RENEWAL	50020	5
JASPER COUNTY-KILLDUFF URBAN RENEWAL	50023	1
JASPER COUNTY-COLFAX URBAN RENEWAL	50024	2
JASPER COUNTY-GALESBURG URBAN RENEWAL	50025	1
JASPER COUNTY-NEWBURG URBAN RENEWAL	50026	1
JASPER COUNTY-IRA URBAN RENEWAL	50027	1
JASPER COUNTY-GUN CLUB ROAD URBAN RENEWAL	50028	2
JASPER COUNTY-COUNTRY ESTATES URBAN RENEWAL	50029	1
JASPER COUNTY-WOODS ESTATES URBAN RENEWAL	50030	1
JASPER COUNTY-CHEESE ROAD URBAN RENEWAL	50031	2
JASPER COUNTY-SUNSHINE ACRES URBAN RENEWAL	50032	1
JASPER COUNTY-MINGO URBAN RENEWAL	50033	1
JASPER COUNTY-ROCK CREEK HOMESITES URBAN RENEWAL	50034	2

TIF Debt Outstanding:

3,269,265

TIF Sp. Rev. Fund Cash Balance as of 07-01-2020:	594,166	0	Amount of 07-01-2020 Cash Balance Restricted for LMI
TIF Revenue:	533,375		
TIF Sp. Revenue Fund Interest:	0		
•	0 272		
Property Tax Replacement Claims	9,373		
Asset Sales & Loan Repayments:	0		
Total Revenue:	542,748		
Rebate Expenditures:	0		
Non-Rebate Expenditures:	491,542		
Returned to County Treasurer:	0		
Total Expenditures:	491,542		
TIF Sp. Rev. Fund Cash Balance			Amount of 06-30-2021 Cash Balance
as of 06-30-2021:	645,372	0	Restricted for LMI

Year-End Outstanding TIF Obligations, Net of TIF Special

Revenue Fund Balance:

2,132,351

♣ Annual Urban Renewal Report, Fiscal Year 2020 - 2021

Urban Renewal Area Data Collection

Local Government Name:

JASPER COUNTY (50)

Urban Renewal Area:

JASPER COUNTY-AMENDED JASPER CO URBAN RENEWAL

UR Area Number:

50011

UR Area Creation Date:

10/1994

Jasper County entered into a 28E agreement with the City of Newton to construct a regional gravity-flow sewer main to connect with the City's existing sewer sustem at North 11th Ave East to serve developments in northeast Newton

UR Area Purpose:

TIF Sp. Rev. Fund Cash Balance

as of 06-30-2021:

& adjacent parts of Jasper County.

Tax Districts within this Urban Renewal Area	Base No.	Increment No.	Increment Value Used
NEWTON TWP/NEWTON SCH/NEWTON BENEFITED FIRE/AMENDED JASPER COUNTY UR ORIG DIST TIF INCREM	500220	500221	0
NEWTON CITY/NEWTON SCH/AMENDED JASPER COUNTY UR ORIG DIST TIF INCREM	500222	500223	0
NEWTON CITY AG/NEWTON SCH/AMENDED JASPER COUNTY UR ORIG DIST TIF INCREM	500224	500225	0
NEWTON TWP/NEWTON SCH/NEWTON RURAL BENEFITED FIRE/AMENDED JASPER CO UR 2006 AMENDMENT #3 TIF INCREM	500370	500371	0
NEWTON TWP/NEWTON SCH/NEWTON RURAL BNFTD FIRE/AMND JASPER CO UR 28E AGMT SUBFND ORIG DIST TIF INCREM	500380	500381	0
NEWTON CITY/NEWTON SCH/AMENDED JASPER CO UR 28E AGMNT SUBFUND ORIG DIST TIF INCREM	500382	500383	12,521,332
NEWTON CITY AG/NEWTON SCH/AMENDED JASPER CO UR 28E AGMNT SUBFUND ORIG DIST TIF INCREM	500384	500385	0
Urban Renewal Area Value by Class - 1/1/2019 for FY 2021 Agricultural Residential Commercial Industrial Other Military Total Assessed 0 0 1,248,690 14,407,730 0 0 15,656,420 Taxable 0 0 1,123,821 12,966,957 0 0 14,090,778 Homestead Credits TIF Sp. Rev. Fund Cash Balance as of 07-01-2020: 592,667 0 Restricted	`0 7- 01-2		Total 15,656,420 14,090,778 0 Balance
TIF Revenue: TIF Sp. Revenue Fund Interest: Property Tax Replacement Claims Asset Sales & Loan Repayments: Total Revenue: 448,265 0 2,451 0 450,716			
Rebate Expenditures: Non-Rebate Expenditures: Returned to County Treasurer: Total Expenditures: 0 453,190 453,190			

590,193

Amount of 06-30-2021 Cash Balance

Restricted for LMI

♦ Annual Urban Renewal Report, Fiscal Year 2020 - 2021

Urban Renewal Area Data Collection

Local Government Name:

JASPER COUNTY (50)

Urban Renewal Area:

JASPER COUNTY-COLFAX INTERCHANGE URBAN RENEWAL

UR Area Number:

50015

UR Area Creation Date:

07/2004

The primary objective of this Urban Renewal Plan for the Jasper County/Colfax Urban Renewal Area is to facilitate the construction

of secondary roadway

improvements in the designated

55,179

UR Area Purpose:

TIF Sp. Rev. Fund Cash Balance

as of 06-30-2021:

area.

Tax Districts within	this Urba	n Renewa	l Area					Base No.	Increment No.	Increment Value Used
POWESHIEK TWP/CO INTERCHANGE UR O			LFAX FIRE/J	ASPER CO	UNTY	COLFAX		500269	500270	0
WASHINGTON TWP/C INTERCHANGE UR OI			OLFAX FIRE	/JASPER C	COUNT	Y COLFA	X	500271	500272	0
COLFAX CITY/COLFA DIST TIF INCREM	X-MINGO S	CH/JASPER	COUNTY C	OLFAX IN	TERCH	IANGE UI	R ORIG	500275	500276	2,748,334
COLFAX CITY AG/CO DIST TIF INCREM	LFAX-MINC	GO SCH/JAS	PER COUNT	Y COLFAX	(INTE	RCHANG	E UR ORIG	500277	500278	0
Urban Renewal Arc	ea Value b	y Class - 1	1/1/2019 for	r FY 202 1	1					
	Agricultural	Residential	Commercial	Industrial	Other	Military	Total	Gas/Elec	tric Utility	Total
Assessed	0	0	6,472,930	0	0	0	6,472,930		0	6,472,930
Taxable Homestead Credits	0	0	5,825,637	0	0	0	5,825,637		0	5,825,637
TIF Sp. Rev. Fund Ca	ash Balance						Amount of	f 07-01-2	2020 Cash	Balance
as of 07-01-2020:			1,499		0)	Restricted			
TIF Revenue: TIF Sp. Revenue Fund	Interest:		85,110 0							
Property Tax Replacen			6,922							
Asset Sales & Loan Re			0							
Total Revenue:	puyments.		92,032							
Rebate Expenditures:			0							
Non-Rebate Expenditu			38,352							
Returned to County Tr	easurer:		0							
Total Expenditures:			38,352							

Amount of 06-30-2021 Cash Balance

Restricted for LMI

Ш -UNBOND-JANUARY 19 A PCC OVERI

PROJECT NUMBER: STBG-SWAP-C050(125)--FG-50 COUNT ASPER



COUNTY HIGHWAY RARROAD

ARPORT TROUGE

350'r O'N LINE

:1

	SONTACTIMEORNATION
51-61	COCUMTY ENGINEERS OFFICE
	910 NOT THE AVE E
	NEWTON 14 50208
	HHONE, 641,702,5552

OF SIGN DATA

570 P.C

1350 VED

20

DRINGE	JASPER COUNTY ENGINEER O DEED
	910 % TIPS AVE E
	NEVTON 16 52200
STATE HOUSENARY	HHOME: 641, 792,5532
COUNTY ROUTEPART	FAX 541 791 7749
COMPORABLEMENT DATE	Laure
TOYARRING INF	

THUCKE





IOWA DEPARTMENT OF TRANSPORTATION

HIGHWAY DIVISION

PLANS OF PROFESSE MPROVEMENT ON THE

FARM TO MARKET SYSTEM

STBG-SWAP-C050(125)--FG-50

PCC OVERLAY-UNBONDED

Located on Highway F-62 from Iowa Highway 163 easterly 4.15 miles to lowa Highway 14

JASPEN COUNTY BO	DARD OF SUPERVISORS
Supergrad:	Date
Supartusor	upia
Suttervisor	Dete



THE CONTENE FOR IS REQUIRED TO CONTACT DUE CALL AT 1890 292-5999 TO DETAIN LOCATIONS FOR ALL EXISTING UNLINES

PROJECT NUMBER: STBG-SWAP-C050(125)--FG-50

	INDEX OF SHEETS				
HO DERCRIPTION					
	TITLE SHEET				
961.5W	GENERAL RETES AND QUANTITIES TABULATIONS				
C:.51-C: 07	TYPISA: CROSS SECTIONS AND DETAILS				
1: 01-U 02	THAT HE CONTROL PLAN				
TOTAL	12 SHECTS				

DiV	FCC	MOITA	LIN. FT.	1. ILES
	96% \$1A 10%0	E140-KTA 200-23	21953-00	4 1E
	9GN STA 10:90	66-D STA 220-22	21953.09	416

	STA	NDARD ROAD PLANS					
THE FOL		NDARD PLANS SHALLES CONSIDERED APPLICABLE TO INTRUST ON WORK ON THIS PROJECT					
STANDARG : ISSUED TITLE							
FIL 120	FIA 120 10.71/14 STOP LOUIS & ISLANDS						
Postin	14.51450	- GINTS					
10-202 10:19:21 SHGHRER TLOSURE							
1G-252	10-252 04/21/93 ROAD-CLCSURE						

PERFOR TO THE PRODOSAL FORM FOR HIST OF APPLICABLE SPECIFICATIONS

TRAFFIC CONTROL PLAN

THIS ROAD SHALL GE CLOSED TO TRAFFIC GHENG PAYNO CONSTITUCION. HOAD CLOSED TO THAT FOR GLOSED TO THAT HAVE AS SOON AS FAVENESH HEADERS AS LOCAL SECTION AS A SOON AS COMMENTED AS A CONTRACT OF THE ADDRESS OF COMMENTED BY SHALL FURNISH GETEST, AND MANAGEMETROW SHORE THE COMMISSION SHALL FURNISH BEHERT, AND MONWARD FROM SHALL FURNISH SHALL FURNISH SHALL FURNISH SHALL FOR SHALL FURNISH SHALL FOR SHALL FURNISH SHALL FOR THE HEARTH SAGES RIGHT CASES TO THEY HEARTH SAGES RIGHT CASES TO THEY HEARTH SAGES AND SAFETY FENCE AT SAFETY SHALL FURNISH MOUNTED ON TYPE HEARTH CASES AND SAFETY FENCE AT SAFETY SHALL FURNISH MOUNTED SHALL FOR SAFETY SHALL FURNISH SHALL FOR SAFETY SAF I MEHIC SIGNAM MOUTED ON TYPE BEARROUDES AND SERVIT FENCY AT SACE'T COURTER TO ATTIONS (1804, TRAFFOR ON ADJUCTION DEVILES SHALL BY MANTAMED AS PHOUNDED FOR INJURIED. THOTAS OF THE STANDARD DEPOSITION TO A REARRY CONTROL CONTROL FOR PROGRAMMENT AND ATTIONS OF THE STANDARD DEPOSITION TO A MANAGE STATE OF WATER THE CONTROL DEVILES OF THE STANDARD AND ADJUGINES FOR THE "MOUND ON SHAMPORY THANKED CONTROL DEVILES FOR STREETS AND CONTROL AS ADDITIONALLY OF THE DEPARTMENT FOR THE OF THE MANAGEMENT AND THE MANAGEMENT.

OTHER COMPANY NAME	LITY CONTA	PHONE	ALORESS.
IATZIATS TRANSMUSSION	Tentis Vohs	8162754014	1802 St. Delawars Aire, Suite 11 & Ankern, IA (DOZ)
CONTROLNA REGIONAL UTILITY ASSOC	HEATHER LOSSIAN	6417927011	1351 town Specieway Cr. Newton 1A 50206
(CILIADI)CENTURYLINE	Tom Sturmer	7705788090	1354 Weim St. Masshalltown, IA 30125
GENDOWA COMMUNICATIONS NETWORK	Statemen Menod:	8007723910	Granes By liting 450 F 14th St. Des Moines, 16 90519
MADERAIDAMER-ELEC	Craig Renfeld	3132526632	2411 N Market St. Oskalenca, 17-57577
MASSITUIDANIER GAS	Craig Bantelle	\$152526632	2411 N Market St. Ushaloger, IA 52577
(MATERMODANIER-CHEC	Cong Hanfeld	5152526637	1411 to Market St. Oskaldosa, D. 82577
BUSH MARKET BELLEVILLE	Tulecom On Call	5152832313	2411 N.M. Jenn St., Orbitingstr., 14, 52577
BINE KORTHERN WATURAL GAS COMPANY	Killin Good	Statustar	6751 Mone Hay Regue bastner, 64 S0151
CHEONE OF NORTH SYSTEM LLC	WHATEEN SANAMAN	5803950316	SCDC Main Ave. Clear takes M-50428
CUMANUMOSTREAM COMMUNICATIONS	LOCATE BESK	8002591901	2540 SW 61st 5t. (les Moines, 14 58421

JASPER COUNTY

PROJECT NUMBER: STBG-SWAP-C050(125): FG-50

Signs	/	/	/	. ,	,	,	November 23, 2	i 6b 021
PROJECT	New Blobers	S.95 S.95 S.95 S.95 S.95 S.95 S.95 S.95		<u>*</u> /				1
LOCATION	JOSE P. C.	4/=	- X / 8	5				
OWNER \\-08-202\ DATE OF BID OPENING	\$ 3		7/2					
DATE OF BID OPENING	1 / 2 0	Sold	/ ERO					
MINE CONTRACTOR MANAGEMENT AND ADMINISTRATION OF THE PROPERTY	17	/	/	/				
misc. Signs	13,572.	14,034,78	16,344.10					
	-				;=====		├	
					-		-	
					-			
								+
								-
							1	
						111		
				-				-
				7				
						- a	i i i i i i i i i i i i i i i i i i i	
					SH-1-11-11-11-11-11-11-11-11-11-11-11-11-			



QUOTATION

Newman Signs Inc. PO Box 1728 Jamestown, ND 58402

Prices on quote are guaranteed for 30 days

Phone: 800-437-9770

Quote #: TRFQTE049003 Ship Via: DELIVERY

Quote Date: 11/8/2021

Customer Number: JAS-03-007

Sales Rep: Nan Elston

FOB: DESTINATION

Payment Terms: Net 30

Bill To:

Ship To:

Jasper County Engineer 910 N 11th Ave E Newton IA, 50208

Jasper County Engineer 910 N 11th Ave E Newton IA, 50208

Header Note: Thank you for your order. Nan / Jon J

SEQ	Item Number/Cost Code/Description/Note	Quantity	Unit Price	Extended Price
1	T-OM-3L12/2K3B 12X36 .080 1 POST STD PUNCH/RADIUS HIP B/Y HAZARD MARKER-L	20.00	17.46	349.20
2	T-OM-3R12/2K3B 12X36 .080 1 POST STD PUNCH/RADIUS HIP B/Y HAZARD MARKER-R	20.00	17.46	349.20
3	T-R1-130/2A3A 30X30 .080 1 POST STD PUNCH HIP W/R STOP	50.00	31.53	1,576.50
4	T-R1-136/2A3A 36X36 .080 1 POST STD PUNCH HIP W/R STOP	10.00	44.07	440.70
5	T-W1-1L30/2E7Y 30X30 .080 1 POST STD PUNCH/RADIUS DG3 B/FLY TURN SYM-L	10.00	46.25	462.50
6	T-W1-1R30/2E7Y 30X30 .080 1 POST STD PUNCH/RADIUS DG3 B/FLY TURN SYM-R	10.00	46.25	462.50
7	T-W14-130/2E3B 30X30 .080 1 POST STD PUNCH/RADIUS HIP B/Y DEAD END	10.00	31.53	315.30



QUOTATION

Prices on quote are guaranteed for 30 days

Newman Signs Inc. PO Box 1728 Jamestown, ND 58402 Phone: 800-437-9770

Quote #: TRFQTE049003

Quote Date: 11/8/2021

Customer Number: JAS-03-007

Ship Via: DELIVERY

Sales Rep: Nan Elston

FOB: DESTINATION

Payment Terms: Net 30

Bill To:

Ship To:

Jasper County Engineer 910 N 11th Ave E Newton IA, 50208 Jasper County Engineer 910 N 11th Ave E Newton IA, 50208

Header Note: Thank you for your order. Nan / Jon J

8	T-W14-348/4T3B 48X36 .125 2 POST STD PUNCH/RADIUS HIP B/Y NO PASSING ZONE	20.00	40.24	804.80
9	SPECIALTRAFFIC T-SP030030/2E3B (30X30 .080 STD PUNCH/STD RADIUS-S/F-HIP-B/Y-WITH BORDER-SEE ATT) (10 EA) CAUTION MINIMUM MAINTENANCE ROAD	10.00	34.35	343.50
10	T-W1-648/4N7Y 48X24 .125 2 POST STD PUNCH/RADIUS DG3 B/FLY ARROW	20.00	70.79	1,415.80
11	T-W1-748/4N7Y 48X24 .125 2 POST STD PUNCH/RADIUS DG3 B/FLY ARROW- DOUBLE	20.00	70.79	1,415.80
12	T-W2-430/2E3B 30X30 .080 1 POST STD PUNCH/RADIUS HIP B/YT SYM	30.00	31.53	945.90
13	T-W3-130/2E7Y 30X30 .080 1 POST STD PUNCH/RADIUS DG3 B/R/W/FLY STOP AHEAD SYM	80.00	58.64	4,691.20
			Subtotal:	13,572.90
			Tax:	0.00

11/17/2021 9:01:43 AM



QUOTATION

Newman Signs Inc. PO Box 172B

Prices on quote are guaranteed for 30 days

Jamestown, ND 58402 Phone: 800-437-9770

Quote #: TRFQTE049003

Quote Date: 11/8/2021

Customer Number: JAS-03-007

Ship Via: DELIVERY

Sales Rep: Nan Elston

FOB: DESTINATION

Payment Terms: Net 30

Ship To:

Jasper County Engineer 910 N 11th Ave E Newton IA, 50208

Bill To:

Jasper County Engineer 910 N 11th Ave E Newton IA, 50208

Header Note: Thank you for your order. Nan / Jon J

Total: \$13,572.90

Total subject to any applicable tax and freight charges. Additional freight charges for residential delivery, inside delivery, liftgate delivery, limited access delivery, or other charges incurred will be invoiced to the customer.

Jim Harms

From:

Bryan Nies

 signsolutionsusa.com>

Sent:

Wednesday, November 10, 2021 8:06 AM

To:

Jim Harms

Subject:

RE: [EXTERNAL]Sign order quotes

Attachments:

19616 Jasper County IA.pdf

[NOTICE: This message originated outside of Jasper County -- DO NOT CLICK on links or open attachments unless you are sure the content is safe.]

Jim,

Attached is your quote for the signs you are looking for! Please let me know if you have any questions and how our pricing looks!

Thanks,





in Sign Solutions USA



Direct: 701-476-8506 Mobile: 701-330-3471 •ffice: 1-844-303-3531



bnies@signsolutionsusa.com



www.signsolutionsusa.com



1110 25th Ave N. Fargo, ND 58102



From: Kevin Berg <kevin@signsolutionsusa.com>
Sent: Monday, November 8, 2021 11:33 AM
To: Bryan Nies

Subject: Fwd: [EXTERNAL]Sign order quotes

Begin forwarded message:

From: Jim Harms < jharms@jasperia.org>
Date: November 8, 2021 at 8:25:29 AM CST

To: Rodney Coohey <midwestpatch@yahoo.com, Nan Elston NElston@newmansigns.com, Kevin

Berg kevin@signsolutionsusa.com
Subject: [EXTERNAL]Sign order quotes

'CAUTION: This email originated from outside of the organization. Do not click on links or open attachments unless you recognize the sender, verify the email address and know the content is safe.';

Please give me a quote for the sign order I sent in the attachment in the next 10 days if possible. Please include the shipping cost as well with the quote. If you have any questions you can reach me at 641-521-0134.

Jim Harms
Jasper County Highway Debt.

CONFIDENTIALITY NOTICE:

The information contained in this e-mail communication and any attached documentation may be privileged, confidential or otherwise protected from disclosure and is intended only for the use of the designated recipient(s). It is not intended for transmission to, or receipt by, any unauthorized person. The use, distribution, transmittal or re-transmittal by an unintended recipient of this communication is strictly prohibited without our express approval in writing or by e-mail. If you are not the intended recipient of this e-mail, please delete it from your system without copying it and notify the above sender so that our e-mail address may be corrected. Receipt by anyone other than the intended recipient is not a waiver of any attorney-client or work-product privilege.



1110 25th Ave N * PO Box 1615 * Fargo, ND 58107-1615 844-303-3531 * Office: 701-237-1255 * Fax: 701-293-7811

Email: sales@signsolutionsusa.com * Website: www.signsolutionsusa.com

QUOTE #19616

QUOTE DATE 11/10/2021

Bill to:

Jasper County Highway Dept. 910 N 11th AVE E Newton, IA 50208 502085

Ship to: Jim Harms Jasper County Highway Dept. 910 N 11th AVE E Newton, IA 50208 641.521.0134

	Cust#	Customer PO #	Requested By	Awarded Date	Exp. Ship Date	Salesperso		Job Assigned	****	rms
	125550		Jim Harms			Bryan Nie	s		Due Upon	Completion
Line	Material	Description	MI THERE	14 1 15	n figure	Weight	Quan	tity	Unit Price	Amoun
1	80546	HIP .080 30" X 30" Stand	dard Sign			371.50	50	.00 EA	\$33.04070	\$1,652.04
		- R1-1 // Stop // HIP White 3930	// Federal							
2	80552	HIP .080 36" X 36" Stand	dard Sign			106.90	10	.00 EA	\$49.74127	\$497.41
		- R1-1 // Stop // HIP White 3930	// Federal							
3	80550	HIP .080 12" X 36" Stand	dard Sign			71.20	20	.00 EA	\$18.17350	\$363.47
		- OM3L // Object Marker Left // H	IIP Yellow 393	1 // Federal						
4	80550	HIP .080 12" X 36" Stand	dard Sign			71.20	20	.00 EA	\$18.17350	\$363.47
		- OM3R // Object Marker Right //	HIP Yellow 39	31 // Federal						
5	80846	DG3 FLUOR .080 30" X	30" Standard	Sign		75.00	10	.00 EA	\$48.92301	\$489.23
		- W1-1L // Turn Left // DG3-FLUC	OR FL Yellow 4	081 // Federal						
6	80846	DG3 FLUOR .080 30" X	30" Standard	Sign		75.00	10	.00 EA	\$48.92301	\$489.23
		- W1-1R // Turn Right // DG3-FLU	JOR FL Yellow	4081 // Federa	al					
7	80546	HIP .080 30" X 30" Stand	dard Sign			74.30	10	.00 EA	\$34.54255	\$345.43
		- W14-1 // Dead End // HIP Yellor	w 3931 // Fede	eral						
8	80498125	HIP .125 48" X 36" No P	assing Zone S	ign		203.40	20	.00 EA	\$42.54925	\$850.99
		- W14-3 // No Passing Zone // HI	P Yellow 3931	// Federal						
9	93546	HIP .080 30" X 30" Sign	Digital			74.30	10	.00 EA	\$39.20350	\$392.04
		- W14-6 // Caution Minimum Mai	ntenance Road	d // HIP Yellow	3931 // Federal					
10	80762	DG3 FLUOR .125 48" X	24" Standard	Sign		237.00	20	.00 EA	\$68.33677	\$1,366.74
		- W1-6 // Single Arrow // DG3-FL			al					
11	80762	DG3 FLUOR .125 48" X		· ·		237.00	20.	.00 EA	\$68.33677	\$1,366.74
		- W1-7 // Double Arrow // DG3-FI		w 4081 // Fede	ral					
12	80546	HIP .080 30" X 30" Stand	•			222.90	30.	.00 EA	\$34.54255	\$1,036.28
		- W2-4 // T Intersection // HIP Yel								
13	80846	DG3 FLUOR .080 30" X		•		600.00	80.	.00 EA	\$53.25000	\$4,260.00
		- W3-1 // Stop Ahead Symbol // [L Yellow 4081 /	/ Federal					
14	80497	HIP .125 36" Circular Sta	Ü			132.80	10.	.00 EA	\$56.17100	\$561.71
		 W10-1 // Advance RR Crossing 	// HIP Yellow	3931 // Federal						

Print Date: 11/10/2021 Print Time: 8:04;29AM Page 1 of 2



1110 25th Ave N * PO Box 1615 * Fargo, ND 58107-1615 844-303-3531 * Office: 701-237-1255 * Fax: 701-293-7811

Email: sales@signsolutionsusa.com * Website: www.signsolutionsusa.com

		Sales Tax	\$0.00
Total Weight	2,552.50	Total Quote	\$14,034.78
		1	

Notes:

Unit Pricing Includes All Shipping Costs

Lead Time 3-4 Weeks ARO

Authorized Signature:	Date:	Customer Ref/PO #:

Material only sale. All orders and sales are final. Unless otherwise specified above, payment due upon receipt of material. For special order items, unless otherwise specified above, payment due prior to ordering. Unless otherwise specified above, all material FOB the 3D Specialties, Inc. office providing this Quote. This Quote is valid for 15 days unless otherwise specified above. Acceptance of the material specified in this Quote constitutes acceptance of the terms in this Quote, regardless of signature. In the event of any conflict between the terms of this Quote and any purchase order or other agreement with the Purchaser, the terms of this Quote will govern. This Quote is made effective as of the date issued, sets forth the goods, supplies or materials to be provided by 3D Specialties, Inc. and is further subject to the terms and conditions detailed at http://dstspecialties.com/quote-terms-and-conditions.php, which are incorporated herein by reference.

Print Date: 11/10/2021 Print Time: 8:04:29AM Page 2 of 2

Jasper County Sign Quote 11-11-2021

count	name	size	gauge	reflective	each	total
20	OM3-L	12X36	.080	HIP	18.01	360.20
20	OM3-R	12X36	.080	HIP	18.01	360.20
50	R1-1	30X30	.080	HIP	35.32	1766.00
10	R1-1	36X36	.080	HIP	54.06	540.60
10	W1-1L	30X30	.080	DGC	52.32	523.20
10	W1-1R	30X30	.080	DGC	52.32	523.20
10	W14-1	30X30	.080	HIP	37.54	375.40
20	W14-3	48X36	.125	HIP	100.31	2006.20
10	W14-6	30X30	.080	HIP	37.54	375.40
20	W1-6	48X24	.125	DGC	85.77	1715.40
20	W1-7	48X24	.125	DGC	85.77	1715.40
30	W2-4	30X30	.080	HIP	37.54	1126.20
80	W3-1	30X30	.080	DGC	52.32	4185.60
10	W10-1	36round	.125	HIP	77.11	771.10
						- 23

total \$\(\frac{16344.10}{}

This price includes shipping and all other cost. No other charges will occur.

Prepared by Rodney

Midwest Patch/Hi-Viz Safety

E-Mail: midwestpatch@yahoo.com

cell: 563-451-8601

Tuesday, November 16, 2021, the Jasper County Board of Supervisors met in regular session at 9:30

a.m. Supervisors Talsma, Carpenter, and Cupples present and accounted for; Chairman Cupples presiding.

Motion by Talsma and seconded by Carpenter to open a public hearing to replace Zoning Ordinance 4D with Ordinance 4E.

YEA: CARPENTER, TALSMA, CUPPLES

There were no public comments.

Motion by Talsma and seconded by Carpenter to close the public hearing on replacing Zoning Ordinance 4D with Ordinance 4E.

YEA: CARPENTER, TALSMA, CUPPLES

Motion by Talsma and seconded by Carpenter to waive public hearing two and three and adopt the new Zoning Ordinance 4E.

YEA: CARPENTER, TALSMA, CUPPLES

Motion by Talsma and seconded by Carpenter to open a public hearing to replace Ordinances 36 & 36A and replacing them with Ordinance 68.

YEA: CARPENTER, TALSMA, CUPPLES

There were no public comments.

Motion by Talsma and seconded by Carpenter to close the public hearing to replace Ordinances 36 & 36A with Ordinance 68.

YEA: CARPENTER, TALSMA, CUPPLES

Motion by Talsma and seconded by Carpenter to waive public hearing two and three and replace Ordinances 36 & 36A with Ordinance 68.

YEA: CARPENTER, TALSMA, CUPPLES

Motion by Talsma and seconded by Carpenter to open a public hearing to update the Comprehensive Plan with changes to the Future Land Use Section.

YEA: CARPENTER, TALSMA, CUPPLES

There were no public comments.

Motion by Talsma and seconded by Carpenter to close the public hearing on updating the Comprehensive Plan with changes to the Future Land Use Section.

YEA: CARPENTER, TALSMA, CUPPLES

Motion by Talsma and seconded by Carpenter to waive public hearing two and three and adopt changes to the Future Land Use Section of the Comprehensive Plan.

YEA: CARPENTER, TALSMA, CUPPLES

Motion by Talsma and seconded by Carpenter to adopt Resolution 21-81 a hiring resolution certifying the following to the Auditor for payroll implementation:

11/17/2021 Information PT-Time Jennifer Cross \$18.45 Hire-in rate Technology Social Media Elevated Clerical Specialist **Union Scale** YEA: CARPENTER, TALSMA, CUPPLES A complete copy of the resolution on file in the Office of the Jasper County Auditor. Motion by Talsma and seconded by Carpenter approve the 28E Agreement for Central Iowa Community Services. YEA: CARPENTER, TALSMA, CUPPLES Motion by Talsma and seconded by Carpenter to adopt Resolution 21-82 approving Transfer Order #1462, transferring \$70,000 from the 4000-JC Emergency Management Fund to the 4001 Hazmat & 4002 Capital Equipment Emergency Management Funds. YEA: CARPENTER, TALSMA, CUPPLES Motion by Carpenter and seconded by Talsma to approve Board of Supervisors minutes for 11/09/2021. YEA: TALSMA, CARPENTER, CUPPLES Motion by Carpenter and seconded by Talsma to adjourn the Tuesday, November 16, 2021, meeting of the Jasper County Board of Supervisors. YEA: TALSMA, CARPENTER, CUPPLES Dennis K. Parrott, Auditor Doug Cupples, Chairman

DEPARTMENT

POSITION

EMPLOYEE

PAY RATE

RANGE/STEP

EFFECTIVE DATE